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Explain interna architecture of PLC, with aneat block diagram. [07] CO1 L1
Explain Nonlinearity and Hysteresis error of a sensor with relevant graphs. [03] CO2 L1
Write a note on Absolute and Incremental Encoders with relevant diagrams. [06] CO2 L1
Discuss I/O Addresses of PLC. [04] CO3 L4

Write Sequential Function Chart and aso the Ladder Diagram for washing cycle  [07] CO6 L6
of a domestic washing machine where the drum is to be filled with water and

then when the drum is full, a heater has to be switched on and remain on until

the temperature reaches the required level. Then the drum isto be rotated for a

specified time.

Write ladder diagram and function block diagram for NOT logic gate with [03] CO6 L6
relevant plots.

What is a Ladder diagram? List the conventions to be followed while drawing [06] CO4 L6
the ladder diagram.

Write the ladder diagram and as well logic diagram for NAND and NOR logic [04] CO4 L6
gates.

Explain the LATCH ladder diagram with the help of an example. [05] CO4 L6
Explain multiple outputs with ladder diagrams. [05] CO4 L6
For the following Boolean equation, Y = A +B(A +CB + DAC)+ ABCD [10] CO4 L6

i. Draw the ladder diagram for the unsimplified equation.
ii. Simplify the equation.
iii. Draw the ladder diagram for the simplified equation.

Write ladder diagram and as well function block diagram for XOR logic gate. [05] CO6 L6

Write instruction list using both Mitsubishi and Siemens notation for XOR logic [05] CO6 L6
gate.

Page 1 of 2



8(a

(b)

Write ladder and functional block diagram for asignal lamp that is required to be
switched on if a pump is running and the pressure is satisfactory, or if the lamp
test switch is closed.

Write ladder and functional block diagram for a system where there has to be no

output when any one of four sensors gives an output, otherwise there is to be an
output.
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